
I repeat: the best way to study for the tests is to read the lecture notes and then answer the weekly questions. It is enough to get the maximum grade: 20.

- You should hand me the answers to Week 1 at the beginning of Wednesday’s lecture (March 30).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 1 in bold at the beginning of your answers.





WEEK 1
Lecture 1: Gravitation towards FE?

1.a) What is the monetary base?

b) What are the components of the monetary base?

c) What is the money stock?

d)What are its components?

2. Assume there’s no currency circulation and a required reserves ratio of 1%.

a) “For an individual bank the marginal cost of a credit of $100 it grants to a firm is equal to the associated logistic cost plus the interest rate times $1.” Do you agree? Explain.

b) “When an individual bank grants credits totaling $100 million during one month, it needs to acquire approximately $1 million of reserves.” Do you agree? Explain, pointing out the needed assumption for your argument to be valid.

c) “When an individual bank grants credits totaling $100 million during one month, it may need to acquire much more than $1 million of reserves.” Do you agree? Explain.

d) “When all banks together grant credits totaling $100 billion during one month, they need to acquire exactly $1 million of reserves.” Do you agree? Explain.

3. Consider the monetary circuit of the lecture, with only one difference: assume that firms initially expect AD to be equal to be 90€ instead of 100€. In this case:


a) Will supply create still create its own demand? Explain.


b) Will there be full-employment? Explain.

4. “According to the monetary circuit of the lecture, supply creates its own demand if and only if neither workers and nor capitalists save part of their incomes.” Do you agree? Explain.

5. The loanable funds adjustment mechanism is a necessary but not sufficient condition for the validity of Say’s law. Why necessary? Why not sufficient in all circumstances?

6. “One implication of the monetary circuit of the lecture is that it is the price level that determines the money stock (p -> Ms), not the other way around (Ms -> p)”. Do you agree? Explain with a numerical example.

Lecture 2: Gravitation towards FE (continued).

7.Explain the following (identical) assertions:
-“Money is created with simple strokes of keyboard keys by banks.”

- “Money is created by banks from thin air”

8. Even if Say’s law applied, there could be unemployment. Why?

9. “If Say’s law operates, effective demand turns out to be equal to expected demand.” Do you agree? Explain.







….
10. Present the (wrong) mechanisms that according to some economists ensure that economies gravitate towards FE.

11. According to the New Keynesians, what’s the problem with those mechanisms?
12. “Downward flexibility of nominal wages would ensure gravitation towards FE.” Do you agree? Explain.
13. a) Explain one reason why a decline in the price of a single good leads to an increase in its demand.

b) Explain why we cannot use that reason to argue that a decline in the general level of prices leads to an increase in AD.

